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 (3) The Birth of English Identity, 1337 - 1453Timeline
1337
England and France begin fighting for control of the French throne.
1346
Battle of Crécy.
1356
Battle of Poitiers.
1415
Battle of Agincourt.
1422
Death of Henry V
1453
Final battle of the Hundred Years’ War; England is left with only Calais.

Exam question:
1. Explain the significance of the Hundred Years’ War for the development of English identity. (8 marks)
2. Compare the impact on Britain of the Hundred Years’ War with the Viking invasions. In what ways were they similar? (8 marks)

	Key People

	Edward III
	King of England at the start of the Hundred Years’ War.

	Henry V
	King who defeated France at Agincourt.

	Joan of Arc
	17 year old peasant girl who led the French army after receiving visions. Executed by the English as a witch.
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1337 - 1360
Success for English: Edward III wins battles at Crécy and Poitiers and captures Calais, which remains in English hands for 200 years. He also captures the French king and holds him to ransom. He gives up his claim to the throne for the right to govern his French territories.
1369 - 1389
[bookmark: _GoBack]Success for France: the French king wins back some of the land he lost. This was followed by turmoil in both France and England, so a period of relative peace lasted after this.
1415 - 1453
English success under Henry V, followed by French success after his death. Henry V wins the Battle of Agincourt against seemingly impossible odds and is actually named the French king’s heir and marries his daughter. However, after his death, the French king and his army (led by Joan of Arc) push the English back.

Key Questions: The Hundred Years’ War
What happened at Agincourt?
· Henry V sailed for France in 1415 to reclaim the French lands lost by former kings.
· He captured Harfleur, a French port, but lost half his army to disease and battle injuries so decided to march north to Calais to meet and English fleet and return to England.
· The French blocked the English retreat with an army of 30,000 to Henry’s 11,000.
· They fought in a field between two woods. The land had been recently ploughed and it had rained heavily. 
· Henry used his archers to fire on the French, who tried to charge but were bogged down in the mud and further blocked by the spikes that the English had set up to slow them down. The English archers continued to fire and slaughtered the French.
· The French lost 7,000 – 10,000 men, compared to England’s few hundred. Many French knights were killed. As part of the Treaty of Troyes, the French king’s daughter married Henry and he was named heir to the throne.
What was the impact of the Hundred Years’ War?
· Economic resources. Areas of France were devastated, buildings were burned, crops and livestock seized and riches stolen. The war was also expensive to fight, so the English and French both had to pay higher taxes. England lost their French lands, but some Englishmen became rich from stolen goods.
· Technology and tactics. Archers replaced the cavalry as the most effective part of an army. There was also increased use of handguns, cannon and gunpowder, meaning castles began to decline. 
· French unity. Important nobles were killed, making the King of France more powerful. There was an increase in nationalism. France also set up a better taxation system that paid for the first full-time army in Europe.
· English identity. England stopped using French at court and became more unified. Kings began using English in private letters. Victories in battle gave England a sense of pride and a unique identity. England also began looking outside Europe for lands to conquer.
Why did England lose its French lands?
· Individuals: Leadership of Joan of Arc inspired the French, though she was captured and burned alive for witchcraft.
· Individuals: Henry V died and was succeeded by his nine month old son.
· Technology: The French mastered a new type of warfare and used artillery against the English, developing the use of the cannon.

Reasons for conflict
Economic resources
England controlled Gascony, a wine-producing region. This produced money for Edward III in tax. France was threatening to take over Gascony.
England sold wool abroad to areas like Flanders. France was threatening to take over these areas, which would make English people poorer, affecting taxes paid to Edward III.
Individuals
Edward III was only 24 and wanted to win glory. His father, Edward II, had been a weak king, and Edward III saw war with France as a way of building his reputation.
Government & Inheritance
Edward III was closely linked to France. His grandfather had been king of France, and his mother was the daughter of a French king. As a result, he thought he had a better claim to the throne than the current French king.
War & Conflict
Edward III was in conflict with Scotland at the time. France promised to help Scotland, making him furious.
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